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Exercise 1. Give the radius of convergence of the following power series (no justifications required):
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where (@n)nen is such that Vn € N, 3n < an < 4n.

r= 4

Exercise 2. Let f be a function defined by a power series of radius of convergence R > 0, say

+o0
f(z) =) anz"

n=0

for some real sequence (@n)nen- Write the following expression as a power series:

A0
vz € (—R,R), (3+2a:)f’(z) — f(z) = Z

n-0Q
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Exercise 3. Let (an)nen be a sequence (

+o00
series Z anz™ is Rg. Let (bn)nen be a sequence such that

n=0
Vn €N, |ba| < anl-

+o0
What can we conclude about the radius of convergence Rp of the power series Z by

n=0

z™? No justifications required.

Qbﬁ/‘%

of real or complex numbers) such that the radius of convergence of the power
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